
Calculation 

V  18V   

R1  1W   

R2  2W  

R3  3W  

R4  4W.  

R24  6W        

R234  2W 

I1234  6 Amps 

I234  6 Amps 

V234  12V 

V24   12V 

I24  2 Amps 

What is V2? 

V 

R1 

R24 
R3 

Which of the following are true? 

A) V24  V2             B) I24  I2  C) Both A+B      D) None 

V 

R1 R2 

R4 

R3 

I1234 

Ohm’s Law 

V2  I2   R2 

        2 x 2 

      4 Volts! 

The Problem Can Now Be 
Solved! 

 R2 and R4 where combined in series to get R24          Currents are same! 

I24 
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